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ECONOMICS
( General )
Papér..: 5.1

( Public Finance )

Full Marks : 80

Time : 3 hours

The figures in the mafgin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
el PR Teq o
(a) Mention one source of public revenue.
5941 IR 90l BT A SeEy 9 |
(b) Write one  objective of public
expenditure. | |
5Pl TAS BT Sy e |

(c) What is government budget?
SIS AMCED 16 2 ”

(d) State whether ‘sale tax’is a direct tax or
indirect tax.
‘RE 39 AT (7 “IQ@F 9, o4l |

(e) What does regressive taxation mean?
FRPIH 9§ 2
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(2) .

(f) Write one source of internal public debt.

RSB BIRIA 4 61 T o |

(99 What is meant by impact of taxation?
T KT Jfeicat {6 @ 2

(h) Write one objective of public debt.
5N 4T BT S T |

() What is productive public expenditure?
TGS BRI A %2

() Mention one canon of tax.
399 @O1 NS Sy 40 |

2. Answer the following questions : 2x5=10

oS el ePpTRd Ted fard

(a) What is capital budget?
e st 2

(b) Write two merits of indirect tax.
“[CTF $I9 01 @1 fo |

(c) Name the various sources of public
debt.
5991 49 s T i fern

(d) Define unproductive public debt. Give
one example,
SERATALEE HIFR 49 IIgeal forgl | TR b
Tzt |

(e) What is surplus budget?
R 3reed F 2
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(3 )

3. Answer any four from the followin
o Sx4=2
o T I BIioR Teq ey ’

(@) PiSFlnguiSh between direct tax and
indirect tax.
AGPF P HAF AEPF I oo 1w [efy
¥

(b) Discuss the characteristics of a good tax
system.
TeT $9 RN ARBPIR BTG 91 |

(c) Write a note on the burden of external
public debt. |
AR PR AR @ F=oACE BT (Il fora |

(d) Explain the limitations of fiscal policy.
ISR NST TIRFOPTR I 9

(¢) Write the effect of taxation on
production of a country.
P TP @91 T SeTRd R fors |

() Show the difference between absolute

and relative taxable capacity.
o SF AR 9 e AL e AL

o |
4. Answer any four from the following :- 10x4=40
weorq e SRR T forsi
-(a) Distinguish between public finance and
private finance. |
sl e W Ifere KT e o1y fefa
<41 |
( Turn Over )
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(4 )

)%Q\/ Discuss the reasons for the growth of
public expenditure in developing
economy.

TRENE (PO 5IFIS1 I Toeld I CIRE @
FIRPTR SHICEOAT 97 |

«(Y Explain the ‘ability to pay’ principle of

taxation.
9 ‘IS ST’ ©goT T A |
(‘&{7\ Describe the role of budget as an

instrument of economic policy. 3\
wtfos M wnfzen Rl qewea et 391 \;
RN

(e) Write the characteristics of pub@

goods. Distinguish between public
goods and private goods.
oA TR CIREPTER o | qeed w9 o
IS TR & 19 67 7411

() Discuss the different methods of
redemption of public debt.

b 49 ReT. R R mfenR.

= S 1 |
AD (9) Explair_i the effects of public expenditure
on productlon and distribution.
- Tesi O RS9 9IS Heia) I ASRPYR
0T <1 |

(h) Describe the objectives of ﬁscal pohcy“m"
f o, (;_!{\Q ¥ a developing economy.
A & " Sl oot PR AT SRR
SR
* K %
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3 (Sem-5) ECO M 2

20109
ECONOMICS

( Major )
Paper : 5.2
Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

( For Arts )

( Basic Statistics for Economics )

1. Answer the following questions : 1x7=7

o 2R Ted e

(@) 1f the mean is 5 and the median is 6,
what is the mode?

I S 5 N T4 6 T, I YA 2

(b)  What does r? signify?
r?-q & o epy 3 9
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(2)

(cc 1If A and B are mutually exclusive
events, what will be the value of P(AB)?

A SE B {[ IR$® T 2’0 P(AB) T I
& =99

(d) Comment on the following statement :

“Correlation coefficient between x and y
turned out to be 1-02”.

oo RYFSOR eeiqe e i
“x T y T T QOIF I oS 1027

(e) Define coefficient of variation.

o9 @ kel 3 |

() What is weighted arithmetic mean?

S SCREIRER SRS E

[/ (g9 U the number of observations and
arithmetic means (AM) of two series are
n, n, and X;, X, respectively, then
what will be the AM of the combined
series?

I Il Y51 A NPT TR W B

TGE G ny, ny A€ X, X, W, (SR
TR AR AR 453 {5 29 9
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(3)

2. Answer the following questions : 2x4=8
SRR ENESECC R eyl

(@) The arithmetic mean (AM) of the value§
~ of avariable X is 25. If each value of X
is increased by 5, what will be the new
AM?
9D T X J TRRY TS TS (AM)
25 1M X 3.2 ek 5 0% w0 B
3, (S Toq AM 39 339

(b) Define mathematical expectation of a
- random variable.
0T TSR ST S erermers et e |

(c/} Prove that the arithmetic mean of two
regression coefficients is greater than
the correlation coefficient.

THT S @ T SWRRT TR 5961 T4
TIRITERE QIRFO(F TREF 27 |

(d) The mean deviation (MD) about mean
’ (X) of a variable X is defined by

g YIX-X

71

What will happen_to MD when |X-X |is
replaced by (X - X)? -

TRE IO 345 (X) T Boicacs Gl 5 X T 975
oo™ (MD) =y

N YIX-X|
n

QS | X - X| 5 (X -X) 31 =, cofex
MD 3 ¢*7% & ¥fig o

20A/220
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(4 )

3. Answer the following questions (any three) :
5x3=15

O PR eq g (R et fofein)
(@) Compute mode from the following data :
| OER SR {1 IZER A 0
Class Interval : 0-10 10-20 20-30 3040 40-50

1At [T

Frequency L 2 17, 20

JIRIIS91

(b) Compute the 3rd quartile from the
following distribution :

oo TR ROEms #[1 o7 59 1Tl 3

155 " 6

Marks : 0-15 15-3030-45 45-60 60 & above
99 :
No. of students : 4 9 14 8 5
RG9S
e/ Given
(GRS
No. of Accidents " No. of Days
| IR ey 37530
0 46
d ?
2 ?
3 ' 25
4 10
5 S
Total = 200
If the mean is 1:46, calculate the
missing frequencies.

/W NG 146 =W, (B (@] IR 51l
9 |
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(¢)

4. Answer the following questions :

(S)

prove that Karl Pearson’s correlation
coefficient (r) is independent of the
change of origin and scale.

AN 91 (@ I P T 8RS (1)
To SIE NG ARETT o[ T |
If two coins are tossed, find the

expectation and the variance of the
number of heads.

o @ Sl IR oM 9 RYW AT
ASTP I 27 Bfereq |

o SPPTRS Ted il ;|

(@)

20A/220

(Y

(i

Either | ¥

The arithmetic mean and standard
deviation of series of 20 items were
calculated by a boy as 20 and 5

respectively. But while calculating

them, an item 13 was misread
as 30. Find the correct arithmetic
mean and standard deviation.

&= 9% 2001 AN B TR SE
T Roere Sl FCEICS I FNEE 20
o 5, [F” AN FCEACS PO 9ol
ANTT CFqo 13 T IS 30 A1 YR
I NI4T IF 97 WS [oer Sfensd |

Write the characteristics of a good
measure of central tendency.

:ﬁ*{@@ﬂa{%ﬁmmmwm
c"Qn|

( Turn Over )
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Explain

(6)

Or / €]

superiority  of

standard

- deviation over the other measures of
dispersion. Given below are the yearly
small companies.

(b)

X
Y

20A/220

profits

Calculate standard deviation.

of

some

3+7=10

RETE SF AR T RoerR ol

T V| oS A By FE @A
TR S | OF 7{ Y e T w0

Profit (in’000 ?)

TS CFToAIT
10-20 6
20-30 8
3040 11
40-50 14
50-60 - 19
60-70 16
70-80 13
80-90 9
90-100 4

Either [ 2
,E§p1ain positive and

No. of Companies

ST

negative

correlation with one example each :

A DI TR OTS FNRE
YOI STITFH A0 91 -

Calculate Karl

ATl P41
10 15
8 10

Pearson’s correlation
coefficient from the following data :4+6=10

T O O} JE IO TR QR

18 22 26 30 32 23

12

14

16 20

16 24

( Continued )



(7))

Or / =41

Compute the two regression equations
on the basis of the following

information :
T 1 ORISR (@1 GO Sl
<91

X Y
Mean 40 45
I
Standard Deviation 10 9
7 (96577

(c)

20A/220

Correlation coefficient between X and
Y=0-5.

Also estimate the values of Y for X =48
using the appropriate regression
equation. 8+2=10
X 9 Y 9 e @NF =0-5. e
CUG TARET @ TN IW X =48 '3

f@eRIce v o I+ Sfie |
Either / 27
() What is meant by independent
events in probability theory? 2
SIde vge Fog WA fF @ ?

(i) A problem in statistics is given to
three students A, B and C whose
chances of solving it are 1, 1 and ;1}—

( Turn Over )



respectively. If they try i.r%depen-
dently, what is the probability that
at least one student can solve the

L 1o 1. wfi Fiéee Fego (581 T,
St S TN O WA I FA
REIECIREIEEN

(i) A bag contains 4 green and 6 red
balls. 2 balls are drawn at random
one by one without replacement.
What is the chance a green ball is
drawn each time? S

951 (AT 4 B CToER = 6 B 98 I
SR | CIICER *[l oAs2fSTeR FFE
g% @B IR IMRFEE Bl R |
2fSqRCO GTFIB] TG 6 G IS
2

Or / F=41

Define binomial distribution.. What

are its main features? Comment on

the statement :

For a binomial distribution, mean =

7 and variance =11. 3+4+3=10
o o e | fem <o W.
@PEPRE &2 @b fiow <9 Sy =7
fj;f.mq =11 — TfEOR S[S T3

20A/220
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( For Science )

( Elementary Econometrics )
5. Answer the following as directed : 1x7=7
e fRaETER et SR e o

(@) What is meant by parameter?

21oe] gfetea = =R 2
(b) In a linear regression line
y; =a+ bx; +u;, what does u; indicate?

OB =R TEEme @/ y; =a+bx; +up, 2
u; 9= 3= 2

(c) What are degrees of freedom?
TozmoR Nl =5 ?

(d) Define R”Z.
RZ2F et Twal |

() A two-tailed test depends on
QBT TR [ S ==

(i) null hypothesis

R 2N ST
(i) alternative hypothesis

=9 oioaw s =S

20A /2
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A R B W

(g)

(10 )

(i) simple hypothesis
RS APHT 8O
(iv) composite hypothesis

Qe 4P SO
(Choose the correct answer)

(7 Tech! AR Sferedn)

Total sum of square (TSS) = Explained

sum of square (ESS) + . -
(Fill in the blank)

(T P @erFEE = 391 IO @ + |
(xifer 312 79 1)

Under standard assumptions, in what
sense OLS estimators are said to be the

‘Best’?

arfae SfeyRIR fSfe® OLS fAyfsss ‘Best’

et 7 w2 oy F1 =W ?
6. Answer any four of the following questions :
werd R clel vt b Ted i
() In a Poisson distribution, Mean =

20A/220

Variance = 8. Give your comment.

4B 5’ T5TS, TG = PRI = 8. (SN
T3 T |

( Continued )
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(b)

(c)

(@)

(11 )

Mention the properties of a good point
estimator.

Qb1 e [ (e CatiBprR Say 4 |
Write two measures of ‘goodness of fit’

RO QIR o1 (S fep |

Distinguish between estimate and
estimator.

Rafxe s R o<y foran |

What are controlled variables?
+fINfre 1 Y @1\9 AR & 2

Mention the problems that arise due to
the wviolation of assumptions of
disturbance term in a linear regression
model.

qol AT ST WiES At oI SfSqRen
Rfge 2'e & § AP1R T 27 4w, Seaw
341 |

7. Answer any three of the following questions :

5x3=15

o R e FoRib! 2 Ted fu

(@)

20A/220

What is an estimator? Distinguish
between point estimator and interval
estimator. 1+4=5

flufs 50 R Pdee o sae Rl
N7 for | '

( Turmn Qver )



B

(b)

(c)

(d)

(e)

20A/220

(12 )

Obtain the mean and variance of
binomial distribution.

Fo 09 NI S 2P Sfere |

Discuss various errors that arise in the
testing of hypothesis.

o ARFIS TEI (AN PR SACEOA 7 |

Explain the statistical and deterministic
relation with suitable examples.

Sk IRCLESEE] > AIRTRT W Ao
SR (RN AP

If 1% of the light bulbs produced in a
factory are defective, find out the
probability that more than 1 bulb is
defective in a__random sample of
30 bulbs using Poisson distribution.

Tl BT P TATS (qfeF TP 1%
67 =, (SeTR'EE 30 B dfonfT e 19
wfee @ Fod @A IR 7o o797

RIS Tfenaq | ‘ |

( Continued )




g, Answer the following questions :

(13 )

10x3=30

oPPTIZ ©T il -

(@)

(b)

y 20A/220

State. the Gauss-Markov theorem.
Explain the statistical properties of the

least square estimators of a linear
regression model. 2+8=10

5-NES COMICH! TG 91 | B (IRF SRS
iz faen @ RfieErs R

What is the justification of inclusion of
the random disturbance term in a linear
regression model? What are the various
assumptions made about the

disturbance term in such a model?
4+6=10

tqf% SR HIRe Iqed disturbance *M
wwefen gl 7 9w SIRe
disturbance “¥ A R ERI SRR
9

What is Student’s t-distribution? What
are its properties? Discuss the major

applications of Student’s t-distribution.
2+4+4=10

Student’s - <% & 2 2R @FEPTR & 5.2
Student’s t-<079 I JRRLTHR el
EAIR
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( 14 )

Or / 9%ql
Explain the concepts of sampling
dard error of a

distribution and stan et
statistic. Write down the utility of the

concept of standard error. 6+4=10

offerd 57 SI® AN F(0d 4= A0 91
ATIAF SO (REACOR Socfare el

() A die is thrown 60 times with the
following results :

4 5 6 Total

Face : 1 2 .
'1§ 11 12 60

Frequency : 6 10

00N

Are the data consistént with hypothesis
that the die is unbiased? 10

[ %201 =15-09 for 5 d.f. |

451 5@ 60 IF TRIAR e e werws

CoIIET ' -

T4 1 2 3 4 5 6 P
JEEE 6 10 8 13 11 12 60
ORI Tp3bet! SIS I 91 oiemarchy sy
FEE?

[ x8.01 =15-09 %% Yogor T s
)

20A/220
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( 15 )

Or / I

The income distribution of officers of a
certain company was found to follow
normal distribution. The average
income of an officer was ¥ 15,000 with a
standard deviation of ¥ 5,000. If there

were 242 officers drawing salary above

¥ 18,500, how many officers were there
in the company?

W e

[The area under standard normal curve
between 0 and -7 is '2580] 10

@ B N ofRteRm wm g6

T IBT SRR T2 | G RO 97
SH ¥15,000 9 gmifas fReem & 5,000,
™M 242 W HR¥oIE ¥ 18,500 w5 wfgw
TR AW, (SR’ CPTNANCETS o Ry
SO H1CE 7

[‘gw%mmqm AR 0 Sy 7 3 foos
2580 |

J O ) NN 1 1329872325 44 2§ 7500 45 15 5 s

* ok ok




3 (Sem-5) ECO M 5
2019

ECONOMICS
( Major )

Paper DD

( History of Economic Thought )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7
wero fRafenee e Sepied Tes i

(a) In France, mercantilism was known as
( Fill in the blank )

WWW I Sl (I |
(10 3R 779 1)
(b) Give the meaning of the term

‘physiocracy’.

‘oAfeam’ *<eo oY Tl |

(c) Who described rent as a ‘monopoly
price’?

CPICA A OO 71 Jfer =iy ffee 2
20A/223 ( Turn Over )




(2 ) )

(d) Who has been described as the foungs,
of modern demography?
S SR S 1T ATE I
A2

(¢) Define Yron law of wages’.
TR T2 wges el i |

(/) - What is individualism?
Tfeam 9 |

(9) Give the concept of scientific socialism.

(T FRTR 49e1esT o |

2. Answer the following questions in brief : 2x4=8
OO 1 2P 5 e fiy -

(@) State two factors that gave rise to
mercantilism.

mwﬁwﬁwmwwn

(b) Write two advantages of division of
labour in context of Smith.

ﬁwwa%%ﬁﬁmﬁamghﬁﬁm
ferar |

(c) Mention two implicatig
markets,
w’aﬁmﬁfwiﬁmqmqw,

(d) State the Marxian theory of valye.
RESR GG R E i n—

ns of Say’s law of

20A/223 ( Continued )



(3)

3. Answer any three of the following questions :
5x3=15

S 2PCARE R Gl fobR e o

(a) Explain the factors responsible for
downfall of mercantilism.

SrsRRm IRE ARl (@ER FERSHR TR
eIl |

(b) Discuss the Ricardian theory of value.

RITE’S o7 ©GCHT ACABAT 41 |

(c) Discuss the Malthusian theory of gluts.
AT STRATTH TECO! SO T |

(d) Explain the Marxian theory of economic
development. |

3l SO T ©gCH! I I |

4. Answer any three of the following questions :
10x3=30

g 2] B e fofabe Tes fran

(a) Discuss Quesnay’s concept of net
product and explain its circulation

among various classes of the society.

IR WA AN MISACT ST F1 S
e f{ifea @R oS WR g [
SUEHISIl

20A/223 ( Turn Over)
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(4 )

(b) Outline the Smithian theory  of
distribution.
e Rogd ©gd[ S 4 |

(c) Critically examine Malthus’ theory of
population.
S G CGOA SCAAReE R
01 -

(d) Examine Ricardo’s comparative cost
theory of international trade.

RTE’T WEAET AR TS T OGO
o[l 41 |

(e How did J. S. ‘Mill combined and
modified the teaching of Smith, Ricardo
and Malthus?

. 5. B @ oY, R’ o A&
ReFPTR ¢S o SKefie FfR 2

() What is surplus value? Distinguish
between C-M-C and M-C-M’ in the
context of the theory of surplus value.

e T 57 Tge YR e e Al
C-M-C ¥[F M-C-M’-T @ e (g 47 |

* % %k
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